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Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Discuss the major developments in the history of 
science during the 20th Century. 

OR 
Discuss the 'Five-Es (5-Es) Instructional ModeY 
with suitable examples. 

2. Answer the following question in about 
600 words : 
What is a 'Concept Map' ? How do you use 
'Concept Mapping' as a teaching strategy to teach 
science ? Illustrate your answer with an 
appropriate example. 

OR 
Describe the various indicators to assess 
observation and experimentation skills. Explain 
with suitable examples. 
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3. Answer any four of the following questions in 
about 150 words each : 
(a) Design two activities to teach the concept 

'Transportation of water and food in plants'. 
(b) How would you explain the concept 

'breathing' by using a working model ? 
(c) What are the myths about nature of science ? 
(d) Discuss the advantages of Unit Planning. 
(e) What methods/strategies do you use to 

teach science to children with hearing 
impairment ? 

(f) Design an activity to teach the concept 
'Reflection of light'. 

4. Answer the following question in about 
600 words : 
Design any two activities to teach the concept 
'Waste Management'. 
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